According to the
diagram, what

does sin(30)
equal?
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According to the
diagram, what

does cos(30)
equal?
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According to the
diagram, what

does tan(30)
equal?
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According to the
diagram, what

does sin(60)
equal?
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According to the
diagram, what

does cos(60)
equal?
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According to the
diagram, what

does tan(60)
equal?
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According to the
diagram, what
does sin(45)
equal?
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According to the
diagram, what
does cos(45)
equal?

According to the
diagram, what
does tan(45)
equal?

Which of the following statements is true for this triangle?
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A Tan 60°=0.5
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Sin90=

A) 1 B) o0
C) -1 D) 0
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C) -1 D) 1
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A) - B) 0
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